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Ausführliche Lösungen zu den Übungsaufgaben im

MINISKRIPT
Lösungen - Logarithmen

1. a)
3x = 9 | log3( )

⇐⇒ log3(3x) = log3(9)
⇐⇒ x = 2

b)
ex = 7 | ln( )

⇐⇒ ln(ex) = ln(7)
⇐⇒ x = ln(7)
⇐⇒ x ≈ 1,946

c)
3x–1 = 2 | log3( )

⇐⇒ log3(3x–1) = log3(2)
⇐⇒ x – 1 = log3(2) | + 1
⇐⇒ x = log3(2) + 1
⇐⇒ x ≈ 1,631

d)
ex – 2 = 5 | + 2

⇐⇒ ex = 7 | ln( )
⇐⇒ ln(ex) = ln(7)
⇐⇒ x = ln(7)
⇐⇒ x ≈ 1,946

e)
5 + e2x = 7 | – 5

⇐⇒ e2x = 2 | ln( )
⇐⇒ ln(e2x) = ln(2)
⇐⇒ 2x = ln(2) | : 2

⇐⇒ x = 1
2 ln(2)

⇐⇒ x ≈ 0,347
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2. a)

e3x–5 = e7x+1 ln( )
⇐⇒ 3x – 5 = 7x + 1 | – 7x
⇐⇒ –4x – 5 = 1 | + 5
⇐⇒ –4x = 6 | : (–4)

⇐⇒ x = –32

b)

e4 = ex2+3x | ln( )
⇐⇒ 4 = x2 + 3x | – 4
⇐⇒ 0 = x2 + 3x – 4

⇒ x1;2 =
–3±

√
32 – 4 · 1 · (–4)
2 · 1

⇐⇒ x1;2 =
–3±

√
25

2
⇒ x1 = –4 oder x2 = 1


